State of New Hampshire Department of Transportation

Project:		HOOKSETT X-A003(751)	28435
County a	ind Code:	MERRIMACK COUNTY 07	13
Date Bid	s Open:	November 6, 2014	
Scope of	f Work:	BRIDGE REHABILITATIO	Ν
Location	:		M RAILROAD, MERRIMACK STREET IN THE TOWN OF
Complet	ion Date:	October 30, 2015	
A BECK & BELLUCCI, INC. PO BOX 429, 10 SALIS	BURY ROAD FRANKLIN, NH	03235	\$1,515,398.20
B E. D. SWETT, INC. 8 INDUSTRIAL PARK D	R. CONCORD, NH 03301		\$1,575,236.00
C EVROKS CORP. PO BOX 669 WINNISQ	UAM, NH 03289		\$1,638,292.80
D GEORGE R. CAIRNS AN 8 LEDGE RD., WINDHA	,		\$1,651,290.30
E R.M. PIPER, INC. PO BOX 490, PLYMOU	TH, NH 03264		\$1,748,177.75
F NEW ENGLAND INFRAS 13 BRENT DRIVE HUD	,		\$1,876,527.50

Item					A		В		С
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
202.7	REMOVAL OF GUARDRAIL	LF	121.00	\$2.50	\$302.50	\$2.00	\$242.00	\$2.00	\$242.00
203.1	COMMON EXCAVATION	CY	10.00	\$50.00	\$500.00	\$25.00	\$250.00	\$50.00	\$500.00
203.55261	INSTALLATION AND REMOVAL OF SWZ - PORTABLE QUEUE TRAILER PLATFORM	U	2.00	\$500.00	\$1,000.00	\$1,500.00	\$3,000.00	\$600.00	\$1,200.00
203.55551	GUARDRAIL 25' EAGRT PLATFORM ALTERNATE	U	2.00	\$1,000.00	\$2,000.00	\$1,000.00	\$2,000.00	\$1,000.00	\$2,000.00
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	CY	5.00	\$75.00	\$375.00	\$50.00	\$250.00	\$50.00	\$250.00
304.201	GRAVEL	CY	5.00	\$65.00	\$325.00	\$50.00	\$250.00	\$100.00	\$500.00
304.3	CRUSHED GRAVEL (F)	CY	10.00	\$85.00	\$850.00	\$100.00	\$1,000.00	\$80.00	\$800.00
403.1109	HOT BITUMINOUS PAVEMENT, MACHINE METHOD, HIGH STRENGTH	TON	735.00	\$95.80	\$70,413.00	\$90.00	\$66,150.00	\$100.00	\$73,500.00
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	8.00	\$342.00	\$2,736.00	\$200.00	\$1,600.00	\$250.00	\$2,000.00
403.6	PAVEMENT JOINT ADHESIVE	LF	13,200.00	\$0.37	\$4,884.00	\$0.40	\$5,280.00	\$0.30	\$3,960.00
403.911	HOT BITUMINOUS BRIDGE PAVEMENT, 1" BASE COURSE	TON	146.00	\$199.00	\$29,054.00	\$150.00	\$21,900.00	\$150.00	\$21,900.00
403.99	TEMPORARY BITUMINOUS PAVEMENT	TON	1.00	\$370.00	\$370.00	\$500.00	\$500.00	\$350.00	\$350.00
417	COLD PLANING BITUMINOUS SURFACES	SY	6,100.00	\$2.36	\$14,396.00	\$2.00	\$12,200.00	\$2.50	\$15,250.00
502	REMOVAL OF EXISTING BRIDGE STRUCTURE	U	1.00	\$36,760.00	\$36,760.00	\$75,000.00	\$75,000.00	\$88,000.00	\$88,000.00
504.1	COMMON BRIDGE EXCAVATION (F)	CY	13.00	\$50.00	\$650.00	\$100.00	\$1,300.00	\$50.00	\$650.00
511.02	PREPARATION FOR PARTIAL DEPTH CONCRETE BRIDGE DECK REPAIRS	SY	130.00	\$400.00	\$52,000.00	\$200.00	\$26,000.00	\$260.00	\$33,800.00

Item					A		В	С		
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	
511.03	PREPARATION FOR FULL DEPTH CONCRETE BRIDGE DECK REPAIRS	SY	80.00	\$675.00	\$54,000.00	\$400.00	\$32,000.00	\$450.00	\$36,000.00	
512.0201	PREPARATION FOR CONCRETE REPAIRS, CLASS II	SY	10.00	\$650.00	\$6,500.00	\$600.00	\$6,000.00	\$500.00	\$5,000.00	
520.01	CONCRETE CLASS AA	CY	15.00	\$650.00	\$9,750.00	\$1,500.00	\$22,500.00	\$425.00	\$6,375.00	
520.0201	CONCRETE CLASS AA, ABOVE FOOTINGS	CY	42.00	\$1,000.00	\$42,000.00	\$1,200.00	\$50,400.00	\$1,010.00	\$42,420.00	
534.3	WATER REPELLENT (SILANE/ SILOXANE)	GAL	100.00	\$85.00	\$8,500.00	\$60.00	\$6,000.00	\$125.00	\$12,500.00	
538.2	BARRIER MEMBRANE, PEEL AND STICK - VERTICAL SURFACES (F)	SY	27.00	\$40.00	\$1,080.00	\$50.00	\$1,350.00	\$50.00	\$1,350.00	
538.6	BARRIER MEMBRANE, HEAT WELDED - MACHINE METHOD (F)	SY	2,541.00	\$17.00	\$43,197.00	\$18.00	\$45,738.00	\$18.00	\$45,738.00	
541.5	PVC WATERSTOPS, NH TYPE 5 (F)	LF	80.00	\$8.00	\$640.00	\$10.00	\$800.00	\$10.00	\$800.00	
544	REINFORCING STEEL (F)	LB	1,746.00	\$2.25	\$3,928.50	\$5.00	\$8,730.00	\$3.30	\$5,761.80	
544.11	REINFORCING STEEL- MECHANICAL CONNECTORS (F)	LB	152.00	\$3.40	\$516.80	\$10.00	\$1,520.00	\$5.00	\$760.00	
550.191	TEMPORARY GIRDER SUPPORT SYSTEM	U	1.00	\$36,000.00	\$36,000.00	\$75,000.00	\$75,000.00	\$50,000.00	\$50,000.00	
550.2	BRIDGE SHOES (F)	EA	12.00	\$1,850.00	\$22,200.00	\$2,000.00	\$24,000.00	\$2,045.00	\$24,540.00	
561.2001	PREFABRICATED MODULAR BRIDGE JOINT SYSTEM (F)	LF	43.00	\$1,600.00	\$68,800.00	\$2,000.00	\$86,000.00	\$1,850.00	\$79,550.00	
561.2002	PREFABRICATED MODULAR BRIDGE JOINT SYSTEM (F)	LF	45.00	\$1,600.00	\$72,000.00	\$2,000.00	\$90,000.00	\$1,850.00	\$83,250.00	
562.1	SILICONE JOINT SEALANT (F)	LF	115.00	\$25.00	\$2,875.00	\$10.00	\$1,150.00	\$10.00	\$1,150.00	
563.971	PROTECTIVE SCREENING FOR OVERPASS STRUCTURE RAIL F	LF	88.00	\$82.45	\$7,255.60	\$75.00	\$6,600.00	\$78.50	\$6,908.00	

Item					A		В		С	
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	
563.973	SNOW SCREENING FOR OVERPASS STRUCTURES RAIL F	LF	88.00	\$66.00	\$5,808.00	\$65.00	\$5,720.00	\$63.00	\$5,544.00	
565.733	BRIDGE APPROACH RAIL F (3-BAR) (MODIFIED)	U	2.00	\$10,395.00	\$20,790.00	\$10,000.00	\$20,000.00	\$9,900.00	\$19,800.00	
604.0007	POLYETHYLENE LINER	EA	9.00	\$350.00	\$3,150.00	\$200.00	\$1,800.00	\$200.00	\$1,800.00	
604.4	RECONSTRUCTING/ADJUST ING CATCH BASIN & DROP INLET	LF	2.00	\$500.00	\$1,000.00	\$1,000.00	\$2,000.00	\$1,000.00	\$2,000.00	
606.120	BEAM GUARDRAIL (STANDARD SECTION) (STEEL POST)	LF	14.00	\$26.25	\$367.50	\$25.00	\$350.00	\$25.00	\$350.00	
606.1255	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT 25 FT) (STEEL POST)	U	2.00	\$1,940.00	\$3,880.00	\$2,000.00	\$4,000.00	\$1,850.00	\$3,700.00	
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	1,050.00	\$18.00	\$18,900.00	\$25.00	\$26,250.00	\$21.00	\$22,050.00	
606.691	REPAIR HANDRAIL	LF	6.00	\$277.00	\$1,662.00	\$35.00	\$210.00	\$160.00	\$960.00	
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECT.), TEST LEVEL 3	U	2.00	\$4,500.00	\$9,000.00	\$2,500.00	\$5,000.00	\$1,500.00	\$3,000.00	
608.2401	4" CONCRETE SIDEWALK	SY	43.00	\$50.00	\$2,150.00	\$75.00	\$3,225.00	\$55.00	\$2,365.00	
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	6.00	\$375.00	\$2,250.00	\$350.00	\$2,100.00	\$300.00	\$1,800.00	
609.5	RESET GRANITE CURB	LF	130.00	\$12.00	\$1,560.00	\$25.00	\$3,250.00	\$15.00	\$1,950.00	
609.55	RESET GRANITE CURB (BRIDGE)	LF	40.00	\$95.00	\$3,800.00	\$75.00	\$3,000.00	\$70.00	\$2,800.00	
615.03	TRAFFIC SIGN TYPE C (F)	SF	32.00	\$63.00	\$2,016.00	\$35.00	\$1,120.00	\$60.00	\$1,920.00	
615.06	TRAFFIC SIGN TYPE CC (F)	SF	8.00	\$26.25	\$210.00	\$50.00	\$400.00	\$25.00	\$200.00	
616.161	TRAFFIC SIGNALS (TEMP.)	U	1.00	\$18,850.00	\$18,850.00	\$25,000.00	\$25,000.00	\$17,950.00	\$17,950.00	
616.191	ALTERATIONS TO TRAFFIC SIGNALS	U	1.00	\$2,600.00	\$2,600.00	\$2,500.00	\$2,500.00	\$2,460.00	\$2,460.00	
616.192	ALTERATIONS TO TRAFFIC SIGNALS	U	1.00	\$10,780.00	\$10,780.00	\$5,000.00	\$5,000.00	\$10,270.00	\$10,270.00	

Item					A		В		С
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	80,000.00	\$1.00	\$80,000.00	\$1.00	\$80,000.00	\$1.00	\$80,000.00
618.7	FLAGGERS	HR	1,500.00	\$21.50	\$32,250.00	\$20.00	\$30,000.00	\$21.00	\$31,500.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$30,000.00	\$30,000.00	\$75,000.00	\$75,000.00	\$92,000.00	\$92,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	8.00	\$5,000.00	\$40,000.00	\$5,000.00	\$40,000.00	\$6,000.00	\$48,000.00
619.503	SMART WORK ZONE OPERATIONAL COST (SUMMER)	MON	6.00	\$1,675.00	\$10,050.00	\$1,000.00	\$6,000.00	\$1,595.00	\$9,570.00
619.51	PORTABLE QUEUE TRAILER/ SENSOR (PQT)	MON	54.00	\$835.00	\$45,090.00	\$500.00	\$27,000.00	\$795.00	\$42,930.00
619.52	PORTABLE CHANGEABLE MESSAGE SIGN (PCMS)	MON	30.00	\$1,045.00	\$31,350.00	\$700.00	\$21,000.00	\$995.00	\$29,850.00
619.91	RELOCATE SMART WORK ZONE DEVICE	U	1.00	\$520.00	\$520.00	\$250.00	\$250.00	\$495.00	\$495.00
621.31	SINGLE DELINEATOR WITH POST	EA	1.00	\$37.00	\$37.00	\$35.00	\$35.00	\$35.00	\$35.00
621.32	DOUBLE DELINEATOR WITH POST	EA	1.00	\$40.00	\$40.00	\$40.00	\$40.00	\$38.00	\$38.00
624.1	RAILROAD PROTECTION - FLAGGING SERVICE	HR	720.00	\$107.00	\$77,040.00	\$106.25	\$76,500.00	\$120.00	\$86,400.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	475.00	\$2.00	\$950.00	\$3.00	\$1,425.00	\$2.00	\$950.00
628.22	SAWED BITUMINOUS PAVEMENT (BRIDGE)	LF	80.00	\$4.00	\$320.00	\$5.00	\$400.00	\$2.00	\$160.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	18,000.00	\$0.21	\$3,780.00	\$0.15	\$2,700.00	\$0.20	\$3,600.00
632.0112	RETROREFLECTIVE PAINT PAVE. MARKING, 12" LINE	LF	90.00	\$1.05	\$94.50	\$2.00	\$180.00	\$1.00	\$90.00
632.02	RETROREFLECTIVE PAINT PAVEMENT MARKING, SYMBOL OR WORD	SF	144.00	\$2.10	\$302.40	\$2.00	\$288.00	\$2.00	\$288.00
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	360.00	\$2.10	\$756.00	\$1.00	\$360.00	\$2.00	\$720.00

Item					Α		В		С	
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	450.00	\$2.65	\$1,192.50	\$2.00	\$900.00	\$2.50	\$1,125.00	
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	90.00	\$5.25	\$472.50	\$4.00	\$360.00	\$5.00	\$450.00	
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	121.00	\$10.50	\$1,270.50	\$8.00	\$968.00	\$10.00	\$1,210.00	
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	3,400.00	\$1.05	\$3,570.00	\$0.50	\$1,700.00	\$1.00	\$3,400.00	
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	79.00	\$2.10	\$165.90	\$5.00	\$395.00	\$2.00	\$158.00	
645.531	SILT FENCE	LF	50.00	\$7.00	\$350.00	\$4.00	\$200.00	\$3.00	\$150.00	
646.31	TURF ESTABLISHMENT WITH MULCH AND TACKIFIERS	SY	60.00	\$8.75	\$525.00	\$7.50	\$450.00	\$8.00	\$480.00	
647.1	HUMUS	CY	6.00	\$40.00	\$240.00	\$50.00	\$300.00	\$50.00	\$300.00	
670.104	TEMPORARY PORTABLE LIGHTING	U	2.00	\$5,000.00	\$10,000.00	\$5,000.00	\$10,000.00	\$1,000.00	\$2,000.00	
670.95	TEMPORARY SAFETY FENCE	LF	1,450.00	\$8.50	\$12,325.00	\$7.00	\$10,150.00	\$6.60	\$9,570.00	
692	MOBILIZATION	U	1.00	\$108,000.00	\$108,000.00	\$78,500.00	\$78,500.00	\$118,000.00	\$118,000.00	
697.31	PROJECT OPERATIONS PLAN	U	1.00	\$1,575.00	\$1,575.00	\$500.00	\$500.00	\$1,500.00	\$1,500.00	
698.13	FIELD OFFICE TYPE C	MON	10.00	\$850.00	\$8,500.00	\$1,400.00	\$14,000.00	\$1,540.00	\$15,400.00	
699	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	
1002.1	REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE STRUCTURES	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	

Item				A		В		С	
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
1008.211	ALTS. & ADDS. AS NEEDED - TEMP. TRAFFIC CONTROL (SIGNS & PAVE. MARKINGS)	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
1009.32	REMOVAL AND DISPOSAL OF ASBESTOS CONTAINING MATERIAL (ACM)	\$	250,000.00	\$1.00	\$250,000.00	\$1.00	\$250,000.00	\$1.00	\$250,000.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
					\$1,515,398.20		\$1,575,236.00	:	\$1,638,292.80

Item					D		E			
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	
202.7	REMOVAL OF GUARDRAIL	LF	121.00	\$13.00	\$1,573.00	\$3.00	\$363.00	\$2.00	\$242.00	
203.1	COMMON EXCAVATION	CY	10.00	\$23.00	\$230.00	\$50.00	\$500.00	\$100.00	\$1,000.00	
203.55261	INSTALLATION AND REMOVAL OF SWZ - PORTABLE QUEUE TRAILER PLATFORM	U	2.00	\$1,700.00	\$3,400.00	\$1,600.00	\$3,200.00	\$2,000.00	\$4,000.00	
203.55551	GUARDRAIL 25' EAGRT PLATFORM ALTERNATE	U	2.00	\$1,700.00	\$3,400.00	\$2,150.00	\$4,300.00	\$600.00	\$1,200.00	
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	CY	5.00	\$23.00	\$115.00	\$50.00	\$250.00	\$75.00	\$375.00	
304.201	GRAVEL	CY	5.00	\$50.00	\$250.00	\$50.00	\$250.00	\$110.00	\$550.00	
304.3	CRUSHED GRAVEL (F)	CY	10.00	\$55.00	\$550.00	\$75.00	\$750.00	\$110.00	\$1,100.00	
403.1109	HOT BITUMINOUS PAVEMENT, MACHINE METHOD, HIGH STRENGTH	TON	735.00	\$100.00	\$73,500.00	\$95.00	\$69,825.00	\$95.00	\$69,825.00	
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	8.00	\$220.00	\$1,760.00	\$210.00	\$1,680.00	\$210.00	\$1,680.00	
403.6	PAVEMENT JOINT ADHESIVE	LF	13,200.00	\$0.55	\$7,260.00	\$0.75	\$9,900.00	\$0.60	\$7,920.00	
403.911	HOT BITUMINOUS BRIDGE PAVEMENT, 1" BASE COURSE	TON	146.00	\$198.00	\$28,908.00	\$160.00	\$23,360.00	\$190.00	\$27,740.00	
403.99	TEMPORARY BITUMINOUS PAVEMENT	TON	1.00	\$220.00	\$220.00	\$260.00	\$260.00	\$210.00	\$210.00	
417	COLD PLANING BITUMINOUS SURFACES	SY	6,100.00	\$2.65	\$16,165.00	\$2.25	\$13,725.00	\$3.00	\$18,300.00	
502	REMOVAL OF EXISTING BRIDGE STRUCTURE	U	1.00	\$103,000.00	\$103,000.00	\$130,000.00	\$130,000.00	\$165,000.00	\$165,000.00	
504.1	COMMON BRIDGE EXCAVATION (F)	CY	13.00	\$23.00	\$299.00	\$50.00	\$650.00	\$60.00	\$780.00	
511.02	PREPARATION FOR PARTIAL DEPTH CONCRETE BRIDGE DECK REPAIRS	SY	130.00	\$321.00	\$41,730.00	\$325.00	\$42,250.00	\$150.00	\$19,500.00	

Item					D		E	F	
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
511.03	PREPARATION FOR FULL DEPTH CONCRETE BRIDGE DECK REPAIRS	SY	80.00	\$542.00	\$43,360.00	\$450.00	\$36,000.00	\$430.00	\$34,400.00
512.0201	PREPARATION FOR CONCRETE REPAIRS, CLASS II	SY	10.00	\$665.00	\$6,650.00	\$750.00	\$7,500.00	\$620.00	\$6,200.00
520.01	CONCRETE CLASS AA	CY	15.00	\$2,300.00	\$34,500.00	\$1,200.00	\$18,000.00	\$990.00	\$14,850.00
520.0201	CONCRETE CLASS AA, ABOVE FOOTINGS	CY	42.00	\$704.00	\$29,568.00	\$1,200.00	\$50,400.00	\$1,400.00	\$58,800.00
534.3	WATER REPELLENT (SILANE/ SILOXANE)	GAL	100.00	\$61.00	\$6,100.00	\$100.00	\$10,000.00	\$30.00	\$3,000.00
538.2	BARRIER MEMBRANE, PEEL AND STICK - VERTICAL SURFACES (F)	SY	27.00	\$71.00	\$1,917.00	\$25.00	\$675.00	\$48.00	\$1,296.00
538.6	BARRIER MEMBRANE, HEAT WELDED - MACHINE METHOD (F)	SY	2,541.00	\$18.00	\$45,738.00	\$20.00	\$50,820.00	\$18.00	\$45,738.00
541.5	PVC WATERSTOPS, NH TYPE 5 (F)	LF	80.00	\$11.00	\$880.00	\$10.00	\$800.00	\$10.00	\$800.00
544	REINFORCING STEEL (F)	LB	1,746.00	\$4.20	\$7,333.20	\$2.50	\$4,365.00	\$2.00	\$3,492.00
544.11	REINFORCING STEEL- MECHANICAL CONNECTORS (F)	LB	152.00	\$8.00	\$1,216.00	\$8.00	\$1,216.00	\$6.00	\$912.00
550.191	TEMPORARY GIRDER SUPPORT SYSTEM	U	1.00	\$53,000.00	\$53,000.00	\$50,000.00	\$50,000.00	\$80,000.00	\$80,000.00
550.2	BRIDGE SHOES (F)	EA	12.00	\$4,940.00	\$59,280.00	\$3,200.00	\$38,400.00	\$2,700.00	\$32,400.00
561.2001	PREFABRICATED MODULAR BRIDGE JOINT SYSTEM (F)	LF	43.00	\$1,575.00	\$67,725.00	\$1,500.00	\$64,500.00	\$1,700.00	\$73,100.00
561.2002	PREFABRICATED MODULAR BRIDGE JOINT SYSTEM (F)	LF	45.00	\$1,575.00	\$70,875.00	\$1,500.00	\$67,500.00	\$1,700.00	\$76,500.00
562.1	SILICONE JOINT SEALANT (F)	LF	115.00	\$36.30	\$4,174.50	\$25.00	\$2,875.00	\$8.00	\$920.00
563.971	PROTECTIVE SCREENING FOR OVERPASS STRUCTURE RAIL F	LF	88.00	\$86.00	\$7,568.00	\$85.00	\$7,480.00	\$80.00	\$7,040.00

Item					D		E	F		
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	
563.973	SNOW SCREENING FOR OVERPASS STRUCTURES RAIL F	LF	88.00	\$70.00	\$6,160.00	\$65.00	\$5,720.00	\$65.00	\$5,720.00	
565.733	BRIDGE APPROACH RAIL F (3-BAR) (MODIFIED)	U	2.00	\$10,890.00	\$21,780.00	\$10,500.00	\$21,000.00	\$10,000.00	\$20,000.00	
604.0007	POLYETHYLENE LINER	EA	9.00	\$227.00	\$2,043.00	\$200.00	\$1,800.00	\$200.00	\$1,800.00	
604.4	RECONSTRUCTING/ADJUST ING CATCH BASIN & DROP INLET	LF	2.00	\$150.00	\$300.00	\$500.00	\$1,000.00	\$400.00	\$800.00	
606.120	BEAM GUARDRAIL (STANDARD SECTION) (STEEL POST)	LF	14.00	\$27.50	\$385.00	\$26.50	\$371.00	\$30.00	\$420.00	
606.1255	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT 25 FT) (STEEL POST)	U	2.00	\$2,000.00	\$4,000.00	\$2,000.00	\$4,000.00	\$2,000.00	\$4,000.00	
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	1,050.00	\$20.00	\$21,000.00	\$25.00	\$26,250.00	\$50.00	\$52,500.00	
606.691	REPAIR HANDRAIL	LF	6.00	\$40.00	\$240.00	\$175.00	\$1,050.00	\$60.00	\$360.00	
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECT.), TEST LEVEL 3	U	2.00	\$2,400.00	\$4,800.00	\$4,000.00	\$8,000.00	\$7,000.00	\$14,000.00	
608.2401	4" CONCRETE SIDEWALK	SY	43.00	\$53.00	\$2,279.00	\$70.00	\$3,010.00	\$75.00	\$3,225.00	
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	6.00	\$220.00	\$1,320.00	\$500.00	\$3,000.00	\$350.00	\$2,100.00	
609.5	RESET GRANITE CURB	LF	130.00	\$12.65	\$1,644.50	\$18.00	\$2,340.00	\$32.00	\$4,160.00	
609.55	RESET GRANITE CURB (BRIDGE)	LF	40.00	\$34.00	\$1,360.00	\$60.00	\$2,400.00	\$42.00	\$1,680.00	
615.03	TRAFFIC SIGN TYPE C (F)	SF	32.00	\$66.00	\$2,112.00	\$105.00	\$3,360.00	\$120.00	\$3,840.00	
615.06	TRAFFIC SIGN TYPE CC (F)	SF	8.00	\$27.50	\$220.00	\$25.00	\$200.00	\$25.00	\$200.00	
616.161	TRAFFIC SIGNALS (TEMP.)	U	1.00	\$19,700.00	\$19,700.00	\$27,500.00	\$27,500.00	\$100,000.00	\$100,000.00	
616.191	ALTERATIONS TO TRAFFIC SIGNALS	U	1.00	\$2,700.00	\$2,700.00	\$4,350.00	\$4,350.00	\$5,000.00	\$5,000.00	
616.192	ALTERATIONS TO TRAFFIC SIGNALS	U	1.00	\$11,300.00	\$11,300.00	\$12,750.00	\$12,750.00	\$5,000.00	\$5,000.00	

Item					D		E	F	
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	80,000.00	\$1.00	\$80,000.00	\$1.00	\$80,000.00	\$1.00	\$80,000.00
618.7	FLAGGERS	HR	1,500.00	\$22.50	\$33,750.00	\$24.50	\$36,750.00	\$15.00	\$22,500.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$45,000.00	\$45,000.00	\$40,000.00	\$40,000.00	\$60,000.00	\$60,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	8.00	\$7,700.00	\$61,600.00	\$8,000.00	\$64,000.00	\$5,000.00	\$40,000.00
619.503	SMART WORK ZONE OPERATIONAL COST (SUMMER)	MON	6.00	\$1,750.00	\$10,500.00	\$1,650.00	\$9,900.00	\$2,000.00	\$12,000.00
619.51	PORTABLE QUEUE TRAILER/ SENSOR (PQT)	MON	54.00	\$870.00	\$46,980.00	\$850.00	\$45,900.00	\$900.00	\$48,600.00
619.52	PORTABLE CHANGEABLE MESSAGE SIGN (PCMS)	MON	30.00	\$1,090.00	\$32,700.00	\$1,000.00	\$30,000.00	\$1,200.00	\$36,000.00
619.91	RELOCATE SMART WORK ZONE DEVICE	U	1.00	\$545.00	\$545.00	\$525.00	\$525.00	\$6,000.00	\$6,000.00
621.31	SINGLE DELINEATOR WITH POST	EA	1.00	\$38.00	\$38.00	\$35.00	\$35.00	\$40.00	\$40.00
621.32	DOUBLE DELINEATOR WITH POST	EA	1.00	\$42.00	\$42.00	\$40.00	\$40.00	\$40.00	\$40.00
624.1	RAILROAD PROTECTION - FLAGGING SERVICE	HR	720.00	\$130.00	\$93,600.00	\$125.00	\$90,000.00	\$90.00	\$64,800.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	475.00	\$5.00	\$2,375.00	\$2.00	\$950.00	\$4.00	\$1,900.00
628.22	SAWED BITUMINOUS PAVEMENT (BRIDGE)	LF	80.00	\$3.40	\$272.00	\$5.00	\$400.00	\$6.00	\$480.00
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	18,000.00	\$0.22	\$3,960.00	\$0.20	\$3,600.00	\$0.25	\$4,500.00
632.0112	RETROREFLECTIVE PAINT PAVE. MARKING, 12" LINE	LF	90.00	\$1.10	\$99.00	\$2.00	\$180.00	\$0.65	\$58.50
632.02	RETROREFLECTIVE PAINT PAVEMENT MARKING, SYMBOL OR WORD	SF	144.00	\$2.20	\$316.80	\$3.75	\$540.00	\$2.00	\$288.00
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	360.00	\$2.20	\$792.00	\$0.50	\$180.00	\$1.00	\$360.00

Item					D		E	F	
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	450.00	\$2.75	\$1,237.50	\$0.80	\$360.00	\$1.00	\$450.00
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	90.00	\$5.50	\$495.00	\$7.50	\$675.00	\$4.00	\$360.00
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	121.00	\$11.00	\$1,331.00	\$9.00	\$1,089.00	\$7.00	\$847.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	3,400.00	\$1.10	\$3,740.00	\$0.25	\$850.00	\$1.00	\$3,400.00
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	79.00	\$2.20	\$173.80	\$1.25	\$98.75	\$1.00	\$79.00
645.531	SILT FENCE	LF	50.00	\$4.50	\$225.00	\$3.00	\$150.00	\$10.00	\$500.00
646.31	TURF ESTABLISHMENT WITH MULCH AND TACKIFIERS	SY	60.00	\$11.00	\$660.00	\$2.00	\$120.00	\$10.00	\$600.00
647.1	HUMUS	CY	6.00	\$20.00	\$120.00	\$40.00	\$240.00	\$50.00	\$300.00
670.104	TEMPORARY PORTABLE LIGHTING	U	2.00	\$3,300.00	\$6,600.00	\$6,000.00	\$12,000.00	\$6,000.00	\$12,000.00
670.95	TEMPORARY SAFETY FENCE	LF	1,450.00	\$4.00	\$5,800.00	\$10.00	\$14,500.00	\$15.00	\$21,750.00
692	MOBILIZATION	U	1.00	\$66,500.00	\$66,500.00	\$150,000.00	\$150,000.00	\$140,000.00	\$140,000.00
697.31	PROJECT OPERATIONS PLAN	U	1.00	\$1,650.00	\$1,650.00	\$3,200.00	\$3,200.00	\$3,000.00	\$3,000.00
698.13	FIELD OFFICE TYPE C	MON	10.00	\$1,460.00	\$14,600.00	\$1,200.00	\$12,000.00	\$2,200.00	\$22,000.00
699	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1002.1	REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE STRUCTURES	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00

Item					D		E		F
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
1008.211	ALTS. & ADDS. AS NEEDED - TEMP. TRAFFIC CONTROL (SIGNS & PAVE. MARKINGS)	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00
1009.32	REMOVAL AND DISPOSAL OF ASBESTOS CONTAINING MATERIAL (ACM)	\$	250,000.00	\$1.00	\$250,000.00	\$1.00	\$250,000.00	\$1.00	\$250,000.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00
					\$1,651,290.30		\$1,748,177.75	:	\$1,876,527.50

			A -	= NHDOT Cost Estimate				
Item					-Bidder		S&E	A-PS&E
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Difference
202.7	REMOVAL OF GUARDRAIL	LF	121.00	\$2.50	\$302.50	\$1.50	\$181.50	\$121.00
203.1	COMMON EXCAVATION	CY	10.00	\$50.00	\$500.00	\$10.00	\$100.00	\$400.00
203.55261	INSTALLATION AND REMOVAL OF SWZ - PORTABLE QUEUE TRAILER PLATFORM	U	2.00	\$500.00	\$1,000.00	\$1,000.00	\$2,000.00	(\$1,000.00)
203.55551	GUARDRAIL 25' EAGRT PLATFORM ALTERNATE	U	2.00	\$1,000.00	\$2,000.00	\$1,000.00	\$2,000.00	\$0.00
206.19	COMMON STRUCTURE EXCAVATION EXPLORATORY	CY	5.00	\$75.00	\$375.00	\$50.00	\$250.00	\$125.00
304.201	GRAVEL	CY	5.00	\$65.00	\$325.00	\$25.00	\$125.00	\$200.00
304.3	CRUSHED GRAVEL (F)	CY	10.00	\$85.00	\$850.00	\$25.00	\$250.00	\$600.00
403.1109	HOT BITUMINOUS PAVEMENT, MACHINE METHOD, HIGH STRENGTH	TON	735.00	\$95.80	\$70,413.00	\$80.00	\$58,800.00	\$11,613.00
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	8.00	\$342.00	\$2,736.00	\$115.00	\$920.00	\$1,816.00
403.6	PAVEMENT JOINT ADHESIVE	LF	13,200.00	\$0.37	\$4,884.00	\$0.25	\$3,300.00	\$1,584.00
403.911	HOT BITUMINOUS BRIDGE PAVEMENT, 1" BASE COURSE	TON	146.00	\$199.00	\$29,054.00	\$170.00	\$24,820.00	\$4,234.00
403.99	TEMPORARY BITUMINOUS PAVEMENT	TON	1.00	\$370.00	\$370.00	\$75.00	\$75.00	\$295.00
417	COLD PLANING BITUMINOUS SURFACES	SY	6,100.00	\$2.36	\$14,396.00	\$2.00	\$12,200.00	\$2,196.00
502	REMOVAL OF EXISTING BRIDGE STRUCTURE	U	1.00	\$36,760.00	\$36,760.00	\$50,000.00	\$50,000.00	(\$13,240.00)
504.1	COMMON BRIDGE EXCAVATION (F)	CY	13.00	\$50.00	\$650.00	\$20.00	\$260.00	\$390.00
511.02	PREPARATION FOR PARTIAL DEPTH CONCRETE BRIDGE DECK REPAIRS	SY	130.00	\$400.00	\$52,000.00	\$300.00	\$39,000.00	\$13,000.00

			A -	PS&E Com	PS&E	PS&E = NHDOT Cost Estimate		
Item					-Bidder		S&E	A-PS&E
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Difference
511.03	PREPARATION FOR FULL DEPTH CONCRETE BRIDGE DECK REPAIRS	SY	80.00	\$675.00	\$54,000.00	\$500.00	\$40,000.00	\$14,000.00
512.0201	PREPARATION FOR CONCRETE REPAIRS, CLASS II	SY	10.00	\$650.00	\$6,500.00	\$550.00	\$5,500.00	\$1,000.00
520.01	CONCRETE CLASS AA	CY	15.00	\$650.00	\$9,750.00	\$700.00	\$10,500.00	(\$750.00)
520.0201	CONCRETE CLASS AA, ABOVE FOOTINGS	CY	42.00	\$1,000.00	\$42,000.00	\$850.00	\$35,700.00	\$6,300.00
534.3	WATER REPELLENT (SILANE/ SILOXANE)	GAL	100.00	\$85.00	\$8,500.00	\$70.00	\$7,000.00	\$1,500.00
538.2	BARRIER MEMBRANE, PEEL AND STICK - VERTICAL SURFACES (F)	SY	27.00	\$40.00	\$1,080.00	\$40.00	\$1,080.00	\$0.00
538.6	BARRIER MEMBRANE, HEAT WELDED - MACHINE METHOD (F)	SY	2,541.00	\$17.00	\$43,197.00	\$20.00	\$50,820.00	(\$7,623.00)
541.5	PVC WATERSTOPS, NH TYPE 5 (F)	LF	80.00	\$8.00	\$640.00	\$10.00	\$800.00	(\$160.00)
544	REINFORCING STEEL (F)	LB	1,746.00	\$2.25	\$3,928.50	\$1.20	\$2,095.20	\$1,833.30
544.11	REINFORCING STEEL- MECHANICAL CONNECTORS (F)	LB	152.00	\$3.40	\$516.80	\$5.00	\$760.00	(\$243.20)
550.191	TEMPORARY GIRDER SUPPORT SYSTEM	U	1.00	\$36,000.00	\$36,000.00	\$25,000.00	\$25,000.00	\$11,000.00
550.2	BRIDGE SHOES (F)	EA	12.00	\$1,850.00	\$22,200.00	\$3,000.00	\$36,000.00	(\$13,800.00)
561.2001	PREFABRICATED MODULAR BRIDGE JOINT SYSTEM (F)	LF	43.00	\$1,600.00	\$68,800.00	\$1,500.00	\$64,500.00	\$4,300.00
561.2002	PREFABRICATED MODULAR BRIDGE JOINT SYSTEM (F)	LF	45.00	\$1,600.00	\$72,000.00	\$1,500.00	\$67,500.00	\$4,500.00
562.1	SILICONE JOINT SEALANT (F)	LF	115.00	\$25.00	\$2,875.00	\$20.00	\$2,300.00	\$575.00
563.971	PROTECTIVE SCREENING FOR OVERPASS STRUCTURE RAIL F	LF	88.00	\$82.45	\$7,255.60	\$75.00	\$6,600.00	\$655.60

			Α-	PS&E	PS&E = NHDOT Cost Estimate			
Item					-Bidder		PS&E	A-PS&E
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Difference
563.973	SNOW SCREENING FOR OVERPASS STRUCTURES RAIL F	LF	88.00	\$66.00	\$5,808.00	\$45.00	\$3,960.00	\$1,848.00
565.733	BRIDGE APPROACH RAIL F (3-BAR) (MODIFIED)	U	2.00	\$10,395.00	\$20,790.00	\$5,000.00	\$10,000.00	\$10,790.00
604.0007	POLYETHYLENE LINER	EA	9.00	\$350.00	\$3,150.00	\$200.00	\$1,800.00	\$1,350.00
604.4	RECONSTRUCTING/ADJUST ING CATCH BASIN & DROP INLET	LF	2.00	\$500.00	\$1,000.00	\$400.00	\$800.00	\$200.00
606.120	BEAM GUARDRAIL (STANDARD SECTION) (STEEL POST)	LF	14.00	\$26.25	\$367.50	\$20.00	\$280.00	\$87.50
606.1255	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT 25 FT) (STEEL POST)	U	2.00	\$1,940.00	\$3,880.00	\$1,700.00	\$3,400.00	\$480.00
606.417	PORTABLE CONCRETE BARRIER FOR TRAFFIC CONTROL	LF	1,050.00	\$18.00	\$18,900.00	\$25.00	\$26,250.00	(\$7,350.00)
606.691	REPAIR HANDRAIL	LF	6.00	\$277.00	\$1,662.00	\$100.00	\$600.00	\$1,062.00
606.9523	TEMP. IMPACT ATTENUATION DEVICE (NON-REDIRECT.), TEST LEVEL 3	U	2.00	\$4,500.00	\$9,000.00	\$6,000.00	\$12,000.00	(\$3,000.00)
608.2401	4" CONCRETE SIDEWALK	SY	43.00	\$50.00	\$2,150.00	\$50.00	\$2,150.00	\$0.00
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	6.00	\$375.00	\$2,250.00	\$400.00	\$2,400.00	(\$150.00)
609.5	RESET GRANITE CURB	LF	130.00	\$12.00	\$1,560.00	\$7.00	\$910.00	\$650.00
609.55	RESET GRANITE CURB (BRIDGE)	LF	40.00	\$95.00	\$3,800.00	\$60.00	\$2,400.00	\$1,400.00
615.03	TRAFFIC SIGN TYPE C (F)	SF	32.00	\$63.00	\$2,016.00	\$40.00	\$1,280.00	\$736.00
615.06	TRAFFIC SIGN TYPE CC (F)	SF	8.00	\$26.25	\$210.00	\$15.00	\$120.00	\$90.00
616.161	TRAFFIC SIGNALS (TEMP.)	U	1.00	\$18,850.00	\$18,850.00	\$50,000.00	\$50,000.00	(\$31,150.00)
616.191	ALTERATIONS TO TRAFFIC SIGNALS	U	1.00	\$2,600.00	\$2,600.00	\$2,500.00	\$2,500.00	\$100.00

			A -	PS&E Com	parison		PS	&E = NHDOT Cost Estimate
Item					-Bidder		S&E	A-PS&E
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Difference
616.192	ALTERATIONS TO TRAFFIC SIGNALS	U	1.00	\$10,780.00	\$10,780.00	\$7,500.00	\$7,500.00	\$3,280.00
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	80,000.00	\$1.00	\$80,000.00	\$1.00	\$80,000.00	\$0.00
618.7	FLAGGERS	HR	1,500.00	\$21.50	\$32,250.00	\$25.00	\$37,500.00	(\$5,250.00)
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$30,000.00	\$30,000.00	\$35,000.00	\$35,000.00	(\$5,000.00)
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	8.00	\$5,000.00	\$40,000.00	\$5,000.00	\$40,000.00	\$0.00
619.503	SMART WORK ZONE OPERATIONAL COST (SUMMER)	MON	6.00	\$1,675.00	\$10,050.00	\$800.00	\$4,800.00	\$5,250.00
619.51	PORTABLE QUEUE TRAILER/ SENSOR (PQT)	MON	54.00	\$835.00	\$45,090.00	\$600.00	\$32,400.00	\$12,690.00
619.52	PORTABLE CHANGEABLE MESSAGE SIGN (PCMS)	MON	30.00	\$1,045.00	\$31,350.00	\$750.00	\$22,500.00	\$8,850.00
619.91	RELOCATE SMART WORK ZONE DEVICE	U	1.00	\$520.00	\$520.00	\$500.00	\$500.00	\$20.00
621.31	SINGLE DELINEATOR WITH POST	EA	1.00	\$37.00	\$37.00	\$30.00	\$30.00	\$7.00
621.32	DOUBLE DELINEATOR WITH POST	EA	1.00	\$40.00	\$40.00	\$30.00	\$30.00	\$10.00
624.1	RAILROAD PROTECTION - FLAGGING SERVICE	HR	720.00	\$107.00	\$77,040.00	\$100.00	\$72,000.00	\$5,040.00
628.2	SAWED BITUMINOUS PAVEMENT	LF	475.00	\$2.00	\$950.00	\$1.40	\$665.00	\$285.00
628.22	SAWED BITUMINOUS PAVEMENT (BRIDGE)	LF	80.00	\$4.00	\$320.00	\$6.50	\$520.00	(\$200.00)
632.0104	RETROREFLECTIVE PAINT PAVE. MARKING, 4" LINE	LF	18,000.00	\$0.21	\$3,780.00	\$0.15	\$2,700.00	\$1,080.00
632.0112	RETROREFLECTIVE PAINT PAVE. MARKING, 12" LINE	LF	90.00	\$1.05	\$94.50	\$0.40	\$36.00	\$58.50
632.02	RETROREFLECTIVE PAINT PAVEMENT MARKING, SYMBOL OR WORD	SF	144.00	\$2.10	\$302.40	\$2.50	\$360.00	(\$57.60)

			A -	PS&E	PS&E = NHDOT Cost Estimate			
Item					A-Bidder		PS&E	A-PS&E
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Difference
632.3104	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 4" LINE	LF	360.00	\$2.10	\$756.00	\$1.00	\$360.00	\$396.00
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	450.00	\$2.65	\$1,192.50	\$1.50	\$675.00	\$517.50
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	90.00	\$5.25	\$472.50	\$5.00	\$450.00	\$22.50
632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	121.00	\$10.50	\$1,270.50	\$2.50	\$302.50	\$968.00
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	3,400.00	\$1.05	\$3,570.00	\$0.35	\$1,190.00	\$2,380.00
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	79.00	\$2.10	\$165.90	\$1.50	\$118.50	\$47.40
645.531	SILT FENCE	LF	50.00	\$7.00	\$350.00	\$5.00	\$250.00	\$100.00
646.31	TURF ESTABLISHMENT WITH MULCH AND TACKIFIERS	SY	60.00	\$8.75	\$525.00	\$0.50	\$30.00	\$495.00
647.1	HUMUS	CY	6.00	\$40.00	\$240.00	\$15.00	\$90.00	\$150.00
670.104	TEMPORARY PORTABLE LIGHTING	U	2.00	\$5,000.00	\$10,000.00	\$6,500.00	\$13,000.00	(\$3,000.00)
670.95	TEMPORARY SAFETY FENCE	LF	1,450.00	\$8.50	\$12,325.00	\$4.00	\$5,800.00	\$6,525.00
692	MOBILIZATION	U	1.00	\$108,000.00	\$108,000.00	\$100,000.00	\$100,000.00	\$8,000.00
697.31	PROJECT OPERATIONS PLAN	U	1.00	\$1,575.00	\$1,575.00	\$5,000.00	\$5,000.00	(\$3,425.00)
698.13	FIELD OFFICE TYPE C	MON	10.00	\$850.00	\$8,500.00	\$1,500.00	\$15,000.00	(\$6,500.00)
699	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00

			A -	A - PS&E Comparison					
Item				A-Bidder		PS&E		A-PS&E	
No:	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Difference	
1002.1	REPAIRS OR REPLACEMENTS AS NEEDED - BRIDGE STRUCTURES	\$	25,000.00	\$1.00	\$25,000.00	\$1.00	\$25,000.00	\$0.00	
1008.211	ALTS. & ADDS. AS NEEDED - TEMP. TRAFFIC CONTROL (SIGNS & PAVE. MARKINGS)	\$	10,000.00	\$1.00	\$10,000.00	\$1.00	\$10,000.00	\$0.00	
1009.32	REMOVAL AND DISPOSAL OF ASBESTOS CONTAINING MATERIAL (ACM)	\$	250,000.00	\$1.00	\$250,000.00	\$1.00	\$250,000.00	\$0.00	
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$0.00	
					\$1,515,398.20		\$1,460,093.70	\$55,304.50	